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A chocolate bar has 9 smaller pieces. How can the 9 pieces be shared between Casey and Abby?

2 and make 9 and 4 make 9

Count and write the numbers.1

2

1st Grade 
Thanksgiving Worksheet

For the answer key, go to
blog.sparkedu.com/thanksgiving-worksheets

Complete the number bond and fill in the blank.3 58 − 7 = 

Look at the picture and fill in the blanks.4

6 + 6 + 6 + 6 + 6 =

5 sixes = 

Put 18          s equally into 3 groups.5

http://sparkedu.com/
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Look at the picture and fill in the blanks.

Bicycle

Ping pong paddle

(a) The baseball bat is                         s long.

(a) The bicycle is                          s long.

200 Broadway, Millbrae CA

There are                           s
in each group.

The faces of the solid figure below are made up of 2 different shapes. What are
the 2 shapes?6
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Baseball bat

www.sparkedu.com

Success Beyond Just Math
Nurture problem-solving and critical-thinking skills for lifelong success.

Anna

Belle

Cindy

Dannie

Each            stands for 1 pie

8 The picture shows the number of pies made by 4 kids. Which 2 kids made 10 pies altogether?
Circle their names.
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